T—1 EHBEEEZEELEBETEDRANRREERDRIER
N ‘ 7h i34 pi:3 =2 Zz D
EXEH - : :
Z ®# Al N OB E R KEF-ERREZER |(FEERk 8028 -HRLES)
- KA [RAFZE - - N
5 8 it 5 8 &t 3 8 it 2} 8 Hi
B oW T % 37 1 38 442 20.1 21 1 22 16 0 16 0 0 0
ESEBEHR I ¥R 28 6 34 519 27.3 14 5 19 12 1 13 2 0 2
T F Bl M T 44 3 47 469 16.8 25 3 28 18 0 18 1 0 1
RE&SHTIEH 25 15 40 163 5.3 18 13 31 6 2 8 1 0 1
2 & =2 8 28 10 38 188 10.4 11 7 18 17 3 20 0 0 0
E 162 35 197 1781 15.1 89 29 118 69 6 75 4 0 4
‘ Fh i34 pi:d = D
& 7 F ¥ : :
= | MmO E K 2 B i 2 F #H(EEeesk 8EE%-oREs)
- RAE | RABE - - -
5 £ E 5 8 ¥ B 2 8 E
EFARATLIFHER 15 2 17 291 19.4 13 2 15 2 0 2 0 0 0
B R I ¥ E X 13 7 20 120 8.0 8 7 15 5 0 5 0 0 0
B 28 9 37 411 13.7 21 9 30 7 0 7 0 0 0




F—2 YRGB A A - E T A DOHER IR
MEEEE EE e 5 1E 0 | == | 2= =
Y S *&/ﬂj@i@%% . ﬁ%jji@%? s B Fxﬂ%/ﬂj@i@ % %
0o I T L N o e T R P we SO L [E] e
|| = | | || 5 < | | & s (| 8 | < | |
||| |7 ~ Tla|mlh| )|~ Tw|EiE L]~
B R R B IR O S R R I B B B 2 I
Rt K Sl (AT sk L T | eexe Sl | E]E
BB || || 3 | B A B FH A e | % BB BB B % | %
[FEA - 1 5 Pk 2 Lt
[HRE ] EN=T 1 1 [ #5235 ]
7 A ¥ BFIR 1 NIRUGE R 1] 1 2| —E h 1 1
(T )1 L#s s 1 1| 2| vV vd—rAqvari 1 1| $H2E)IET 1 1
(BRI ARAEL 1 1| 2| Wae ®whHv AT Ltk 1 1| A 1 1
NDS(H 1 1| AARTEER 1 1) iR IR 2 2
=0 AR VSTV &T Y BT 1 1| 77 —T%mK 1 1| M 1 1
;%%J;%%H 1 1| =v7oziNavya—var i 1 1| haEild 1 1
AR T EMR 2 2 /I it 1] 3] 3 1 8| 4dEM 2 2
VA T VBRI 1] 1 P 1 1
B A ARZE TR 1 1 [ % B HL A 22 ] /N it 1] 2 7 10
FHARNT AR 1| 1| 7427271771 1 1
NP A 1 1] Z=T%mW 1 1 2 [EZRAHK]
KEAAR AR 1 1| 74 > KRR 1 1 2| ELRmA 11 11
if AR LR 1 1| KEEAHR 1 1| BifErd 1 1 2
Faky TEEMR 1 1| R B LB R T 1 1 /N it 1 12 13
AR F—4— 1 1| #7757 =2=ak 1 1
RAEHERR LMW 1| 1] BeiERT 1 1
RERT ) > 1 1| A B T2EM 1 1 (PN
/I it 3] 9] 3] 5] 20 /I it 3 4 3 10| HUER LSl K7 R BE 1 1
IR === (PN TN 1 1
CE R RS YE R SED | b N PN 1 1 2
Lfob - KK - 72127 - SRR BAVE R ) 1 1 2| A WRKFRFRE 1 1
7 Bl 1 1| HEEER 1| 2| 1] 2| 2 8| ZHERFRFPE 2 2
ERL: 1 1| A A 1 1 1 3 /h it 2| 5 7
HLE—( 1 1| HRCEER 1 1
e Zm Ll 1 1| BT AR 1 1 [ KRR AF]
ARAKFLEM 1 1 /I it 1] 5] 2] 3] 4 15| KBK% 3 1 4
/I it 3 1] 1 5 fi] (L R 1 1
[1&HimiE 3] BER B RF 1 1
NHK 1 1] IR K 3l 1 2 6
[l T2, FIRI % 3] Why - 277 1 1| #FRY¥ 1 1
KB — Vv 7 EIBIE 1 1| r#rr=asa=r—varm 1 1| fEMKRFE 1 1
Wt A A A RER | ] 1| Watd~—r7 107 1 1 %;*.%jti 2l 1 1 1 5
Olt) [ SZEIR R 1 1| 7K 7 v 1 1| HOK 1 1
/I Gl 1 1f 1 3 /I it 1] 3 1 5 ﬁm1¥jﬁ% 2 2
HOE LR 1 1
[ - BiE] AR 1 1
e T% - 45 - 5 %] HOME R F BOE 1] 1 31 6| EEEANE RS 1 2] 2 1 6
JBALRL 7 2 9 v R 1 1| BAREYSGER G 1 1| AHERY 1 1
EER 1 1 /I Gl 1 1 4] 1 7| AWEIERY 1] 2 3
(DN 1 1 REIARF 1 1
FA AW 1 1 [ﬁﬂm% NE] ZHEKRY 1 2 3
/I Gl 21 1] 1 4| wwrnees-srryyamvaam 1 1| s TERE 1 1
m%’zﬁ’ﬁwﬁvm(ﬁ) 1 1 /I it 11] 7]110] 4] 7 39
/I Gl 1 1 2
(75 2F v 7 WG] (5247
875 AF v 7 THK 1 1] (% - gy — e =) Mg . T3 i A5 B P A 5| 6 8] 4]13 36
TP 1 1 7400 =vv=7vorm 1 1 2
7 ED 1 1 o =g sTVa = v=Tyy 1 1
=X« 71« T4 FA AL B 1 1
WNTTZ 707 — Xl 1 11 2 [#FE=2R ]
[43% - taflmidiEg] WNTTZ 72 U7 4—X 1 1| sLserv=g747nrov 1 1
HWTYK 1 1| WNTTZ 4= 72/ 1 1 2
H AR T 20 1 1| MHI=7R=rory—ram 1 1
H AR Bk B R 1 1| #omvvi—nr TV I 1 1
1 2 R BIECTESDEV S 1 2 3
CAHE) g B B T 1 1
LA - 4B - B YT M 1 1
Iy 7| 1 1| KABa L2 MR 2 2 [ LReLsk]
d—7 < 1 1| 7 kG TR 1 1| REGEFRIE - BEIAE) 2 1 3
WIS T 7 4 v I VAT B 1 1| hEEERZesiER Y — e A 1 1
AR R 1 1| W7 A =2 1] 2 3
(i) U L 1 1 R e s pr 1 1
SEANA T v 7 B4 1 1| mEAER=s e b 1 1
=7ulR 1 1| Od) KGR 1 1
& R RS 1 1| W7a—yrx=vv=7vr7 1 1
ZHEETEW 1 1 2| ERARFTERGE 1] 1 & B 38 [34 [47 [40 |38 [17 [ 20 | 234
Hof FE AR (R 1 1| WEER—LF 7R 1 1
N it 3 6 2 11] WY 2S 1 1
/N it 3] 5] 4] 7] 4] 4f 3] 30




